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(1) %% %X (von Neumann Model) &3t F-M MRk £ & oot N HRME ?

(A) 8 ABH (B) #AERX (©) ekt (D) =EAa¥

Q) 1991 4 HHRFEXL %4 Linus Torvalds » #1f MR 4648 > R/EGEREAKLRE :
(A) Windows (B) Vista (C) Unix . (D) Linux

(3) #6HE—iq FH 0 10101 & 11110 > #B# XOR (Exclusive OR) Sk 4 %X :
(A) 01011 (B) 11111 (C) 10101 (D) 10100

4 BETHRGERETHR —MEGER B RHXH
(A) YouTube (B) HTTP (C) Search Engine (D) Web 2.0

6) KniAMABEFFEERAE BRI RLERSVXR?
(A) n-1 ®B) n2 (C) 27 (D) n+1

6) THIMARMEMRAFERLD (Last-In-First-Out) 4K ?
(A) % 7|(linked list)  (B) £7¥|(queue) (C) e l(stack) = (D) #i(tree)

(7) TFHM—mE~L 11001100 &5 2 s4# & (2’complement)
(A) 00110011 (B) 11111001 (C) 00110111 (D) 00110100

(8) Cable Modem 4£ /3 F] dh Bt sk ¥ 164 805 ¥/ » @ ADSL 24 A T Ff74 R EXTHMRGHHN
(A) = (B) Mk © E&E% D) FHREAER

O) AESMMBLFRMTY  FEERAEERHLREFRS: 000

ST T Ay k4 (B) wm (©) & ~ (D) ik

(10) R CHBIF AR —MEMRASARMA—HAFE (string) ?
(A) scanf() (B) getsO (C) getchar() (D) getch()

(A1) HC B EL—AREBL N O E— BTN > SR AEHE (pointer) W > FXHBFRT
(A)# B)/* O & | D)*

(12) A A =4k (binary search) B 100 BMEFTHEFXRELT » RINFENHGRK F ILBRRME ¢
(A6 % B)7 % (©) 10 % D12 &

13) TEF—EERSgastatsE?
(A) 0.08TB (B) 100KB (C) 2.8MB (D) 13GB

= AR (- 10 R)

L W i Hikfe 28875 ey mik ?
2. HEHAER= BT AFERRA (inorder) -

=~ fXust (15 2)
B —ERA 10 LRL58 - 1AM T 55,74, 85,68, 72, 42, 67, 56, 77, 63 -
WA C & CH BIRBA—BER - AHE LASRAPHTHEH -
(1) BRRAR -

Q) REBAY - e
G) 2EFHA (BB —2) - % |E#(H




